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@ Rosa is using number cards to make equivalent fractions, as shown below.

3 9

12

What number belongs on the blank card?

Scoring Guide:

Score Description
1 Student correctly gives the missing number, 36.
0 Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.
Blank | no response
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Score Point 1 (ExampLE A)
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Student’s answer is correct.

Score Point 0 (ExampLE A)
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Student’s answer is incorrect.
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Score Point 0 (ExampLE B)
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Student’s answer is incorrect.
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@ Draw an obtuse triangle.

Scoring Guide:
Score Description
1 Student correctly draws a triangle with an angle larger than 90 degrees.
0 Rgsponse is incorrgct or contains some correct work that is irrelevant to the
skill or concept being measured.
Blank no response

Sample Response:
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Score Point 1 (ExampLE A)

Student correctly draws a triangle
with an angle larger than 90°.

Score Point 0 (ExampLE A)
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Student does not draw a triangle
with an angle larger than 90°.

Score Point 0 (ExampLE B)
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Student draws an obtuse angle
rather than a triangle with an angle
larger than 90°.
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@ Jesse and Kristy each bought a pizza of the same size.

o Jesse’s pizza was cut into 3 equal slices. She ate 1 slice.
o Kiristy’s pizza was cut into 6 equal slices. She ate 2 slices.

Explain using words, numbers, or pictures how Jesse did or did not eat the same amount of pizza as
Kristy.

Scoring Guide:

Score Description

Student uses words, numbers, or pictures to show that Jesse and Kristy ate

2 the same amount of pizza.

Student demonstrates an understanding of fractions; explanation may be vague
and/or contain errors.

Response is incorrect or contains some correct work that is irrelevant to the

0 skill or concept being measured.

Blank no response

Sample Response:

Student draws two circles: one cut into 3 equal slices with one slice shaded and the second one cut into
6 equal parts with two slices shaded.

Student says that the two areas are equal.

OR

Student says Jesse ate % of a pizza and Kristy ate 2

6

1x2 _ 2

of a pizza and 3x2 = 6
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Score Point 2 (ExampLE A)

Student uses pictures to show
that Jesse and Kristy ate the
same amount. (2 points)

Score Point 2 (ExampLE B)
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Student uses words to show that
Jesse and Kristy ate the same
amount. (2 points)
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Score Point 1 (ExawmpLE A)
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Student states the fractions are
equivalent (1 point) but neither
lists the fractions nor shows how
they are equivalent.

Score Point 0 (ExampLE A)
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Student’s answer is incorrect.
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@ The scale shown below is balanced.
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Each bag of sand weighs the same. How many pounds does one bag of sand weigh? Show your work
or explain how you know.

Scoring Guide:

Score Description

2 Student correctly answers, 14 (pounds), with work shown or explanation
given.

Student gives correct answer but no work or explanation.

1 OR

Work or explanation shows correct strategy in solving the problem with a
computation error.

0 Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.

Blank | no response

Sample Response:

24 +18=42and 42 +3=14

OR

Student divides each weight on the right side by 3 and then adds.
(24 +3=8,18+3=6, 8+ 6 =14 pounds)
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Score Point 2 (ExampLE A)
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Student shows appropriate work and
answer is correct. (2 points)
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Score Point 2 (ExawpLE B)

s -

1 /bé’\ 5‘-\’2 ‘ 1Y PIPWClQ becgusSe

2 | i€ you add e prnd
b 18 gt 619 U wth due Poks s U2
Ty X 3 Pods And B ppag

yz Ynhot each) way U pands
S also T wa s
Aaded ‘k‘@. e,

Student shows appropriate work and
answer is correct. (2 points)
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Score Point 1 (ExampLE A)
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Student shows an appropriate
strategy with a computation error.
(1 point)

Score Point 1 (ExampLE B)
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Student’s answer is correct
(1 point) without work or
explanation (0 points).
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Score Point 0 (ExampLE A)
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Student’s answer is not correct
(0O points) and work does
not show a correct strategy
(0 points).

Score Point 0 (ExawpLE B)
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Student’s answer is not correct
(0 points) and work does
not show a correct strategy
(0 points).
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@ Look at these spinners.

[
NEAN

Spinner A Spinner B Spinner C

Julie, Greg, and Lori each used a different spinner to record the results of 40 spins.

a. This table shows Julie’s results.

Julie’s Spinner

Results
Color Frequency
yellow 12
blue 14
red 14

Which spinner did Julie most likely use? Show your work or explain how you know.

b. This table shows Greg’s results.

Greg’s Spinner

Results
Color Frequency
yellow 30
blue 5
red 5

Which spinner did Greg most likely use? Show your work or explain how you know.

c. Lori used the remaining spinner. Make a table to show the most likely results of Lori’s 40 spins.
Explain your reasoning.
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Scoring Guide:

Score Description
4 6 points
3 4 or 5 points
2 2 or 3 points
1 1 point
0 Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.
Blank | no response

Training Notes:

Parta: 2 points for the correct answer, Spinner C, with work shown or explanation given
OR
1 point for the correct answer, no work shown or explanation given
or

for correct strategy shown in solving the problem

Part b: 2 points for the correct answer, Spinner B, with work shown or explanation given
OR
1 point for the correct answer, no work shown or explanation given
or

for correct strategy shown in solving the problem

Partc: 2 points for completing a table that shows 40 spins with about 2 spins yellow, % spins
red, and % spins blue, with work shown or explanation given
OR
1 point for the correct answer, no work shown or explanation given
or

for correct strategy shown in solving the problem
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Sample Response:
Parta: In Julie’s table, the colors occurred about the same number of times. In Spinner C each color is

equally likely.

Part b: In Greg’s table, the color yellow occurred a lot more than half (about 3 of the time) and the other two
colors occurred the same number of times. In Spinner B, 3 of the spinner is yellow, and red and blue
have an equal share of the rest.

Part c:

Lori’s Spinner
Results

Color

Frequency

yellow

20

blue

10

red

10
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Half of spinner A is yellow, so | made 40 + 2 = 20 spins yellow in the table.
One fourth of spinner A is red and one fourth blue, so | made 40 + 4 =10
spins for red and blue. (OR | noticed blue and red should have the same
amount. Since | made yellow 20 spins, then red and blue should each be
(40 — 20) = 2 = 10 spins).
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Score Point 4 (ExampLE A)
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a) Student's answer is c) Student gives a correct b) Student’s answer is correct with
correct with explanation. table with explanation. explanation—“scored mostly yellow, and

(2 points) (2 points) the same amount of red and blue”

—addresses that yellow was landed
on more than red and blue combined,
and eliminates Spinner A as an option.
(2 points)
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Score Point 3 (ExampLE A)
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a) Student's answer is b) Student’s answer is c) Student gives a correct table with
correct without work or correct without work or explanation. Note: Changing red
explanation. (1 point) explanation. (1 point) to green did not affect the score.

(2 points)
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Score Point 2 (ExampLE A)
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a) Student's answer is c) Student’'s answer is not b) Student’s answer is
correct (1 point), but correct (0 points) and correct (1 point), but
explanation is not explanation is not sufficient explanation is not
sufficient (0 points). (0 points). sufficient (0 points).
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Score Point 1 (ExampLE A)
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b) Student’s answer is correct c) Student does not give a correct a) Student gives neither an
without work or explanation. table and does not show work or answer nor a strategy.
(1 point) give an explanation. (0 points) (0 points)
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Score Point 1 (ExawmpLE B)
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a) Student’s answer is not correct b) Student’'s answer (incorrectly c) Student's response is
(incorrectly labeled “B”) and labeled “C” but refers to “Gregg”) missing. (0 points)
does not show a strategy. is correct without work or
(0 points) explanation. (1 point)
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Score Point 0 (ExampLE A)
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a) Student's answer is not c) Student does not give a correct b) Student’s answer is not
correct and explanation is table and does not show work or correct and explanation is
not sufficient. (0 points) give an explanation. (0 points) not sufficient. (0 points)
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Score Point 0 (ExampLE B)
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a) Student only repeats b) Student only repeats c) Student does not give a correct
the information given. the information given. table and does not show work or
(0 points) (0 points) give an explanation. (0 points)
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